Maths Quiz KS2

3 x 5 x 4 =

What is the missing number: ? - 96 = 35

George has 80 lego bricks, 50 percent of the lego bricks are yellow, 25 percent of the lego bricks are red, and the remainder are green - how many green lego bricks does George have?

50 x 6 = 

3³ =

Can you round the following decimals to 2 decimal places: 
a) 6.387
b) 2.426
c) 4.324

What is the missing fraction: ? x 5 = 1

Katie's birthday party is in 51 weeks and 2 days, how many days are there until Katie's birthday?

Using the answer from question 4, can you work out how many hours there are until Katie's birthday party?

58,524 - 3000 =
Can you write the number 80,267 in words:
__________________________________________________
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Can you place the following fractions in order beginning with the smallest first: 
2/3, 6/8, 2/4, 4/5, 3/9?
4800 ÷ 20 =

What are the two missing numbers in the following sequence: 
825, 1005, _______ , _______ , 1545, 1725
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